# COUNTY OF MONMOUTH STATE OF NEW JERSEY

FURNISH AND DELIVER CONCRETE FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP) F-27-2022

#### **INCLUDES:**

NOTICE TO BIDDERS
GENERAL CONDITIONS
EEO LANGUAGE
EEO QUESTIONNAIRE
BUSINESS REGISTRATION REQUIREMENTS
STATEMENT OF OWNERSHIP
IRAN DISCLOSURE FORM
AMERICANS WITH DISABILITIES ACT

NON-COLLUSION AFFIDAVIT

ADDENDUM ACKNOWLEDGMENT

BID DOCUMENT CHECKLIST

REQUEST FOR BID

ADDITIONAL SPECIFICATIONS (if any)

SIGNATURE PAGE

ANTI-DISCRIMINATION IN EMPLOYMENT

**AUTHORIZED: May 13, 2021** 

ADVERTISED: September 23, 2021

THOMAS A. ARNONE
DIRECTOR OF THE BOARD OF COUNTY COMMISSIONERS

MARION MASNICK
CLERK OF THE BOARD

TERI O'CONNOR
COUNTY ADMINISTRATOR

HELEN P. FIORE
DIRECTOR OF PURCHASING

NAME OF BIDDER:_	Garden State Conc	rete	
ADDRESS:_	300 Commerce brive	J	
<u> </u>	Tinton Falls, NJ	07753	
Phone: _	732-229-7758	Fax: 732-229-4944	

PLEASE INCLUDE ONE (1) UNBOUND ORIGINAL BID WITH SIGNATURE(S) AND TWO COPIES

# **REQUEST FOR BID** ---- This Is Not An Order -----

**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

FURNISH AND DELIVER CONCRETE FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP)

RFB must be received no later than:		October 20, 2021 10:30AM		
For Delivery to:	VARIOUS LOCATIONS,	IN MONMOUTH COUNTY		

	Delivery Date:	1/1/2022 - 12/31/2022	
--	----------------	-----------------------	--

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
DIVISIO	ONS OF ENGINEERING AND BRIDGES			
1	NJDOT MIX CLASS "B" CONCRETE (3700 PSI) REGULAR	65 CU.YD(S)	115	7475
· 2	NJDOT MIX CLASS "B" CONCRETE (3700 PSI) WINTER	14 CU.YD(S)	120	1680
3	NJDOT MIX CLASS "A" CONCRETE (4600 PSI) REGULAR	25 CU.YD(S)	130	3250
4	NJDOT MIX CLASS "A" CONCRETE (4600 PSI) WINTER	15 CU.YD(S)	130	1950
5	NJDOT MIX CLASS "S" CONCRETE (2000 PSI) REGULAR	50 CU.YD(S)	115	5750
6	NJDOT MIX CLASS "S" CONCRETE (2000 PSI) WINTER	30 CU.YD(S)	115	3450
7	PUMPABLE COARSE GROUT (4,500 PSI) REGULAR	34 CU.YD(S)	140	4760
8	PUMPABLE COARSE GROUT (4,500 PSI) WINTER	25 CU.YD(S)	145	3625
9	PUMPABLE FLOWABLE FILL (NJDOT CLSM)	24 CU.YD(S)	200	4800

# **REQUEST FOR BID**

\_\_\_\_\_

---- This Is Not An Order ----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo

732-431-7370 x7381

# FURNISH AND DELIVER CONCRETE FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	PUMPABLE FINE GROUT (3,000 PSI) REGULAR	44 CU.YD(S)	200	8800
11	PUMPABLE FINE GROUT (3,000 PSI) WINTER	25 CU.YD(S)	200	5000
12	NON-PUMPABLE FLOWABLE FILL (NJDOT CLSM)	40 CU.YD(S)	200	8600
13	EXCESS TIME (PER 1/4 HOUR) - 6 MINUTES/YARD ALLOWED	83 UNIT(S)	50	4150
14	SIKA RETARDER AL OR EQUIVALENT SET RETARDING CONCRETE ADMIXTURE (RETARDANT)	160 OZ	3	5025
15	SIKAMENT 686 OR EQUIVALENT HIGH-RANGE WATER REDUCING ADMIXTURE (PLASTICIZER)	110 OZ	3	3 Za5
16	SIKASET NC-4 OR EQUIVALENT ACCELERATING ADMIXTURE (ACCELERANT)	310 OZ	<b>U</b>	11,500
17	DELIVERY CHARGE - UPCHARGES FOR WEEKEND DELIVERY ARE NOT PERMITTED	50 TRIP(S)	275	13,750
DIVISI	ON OF BUILDINGS AND GROUNDS			and the second of the second o
18	NJDOT MIX CLASS "B" CONCRETE (3700 PSI) REGULAR	5 CU.YD(S)	115	575
19	2,500 PSI READY MIX CONCRETE - REGULAR	5 CU.YD(S)	115	575
20	2,500 PSI READY-MIX CONCRETE - WINTER	5 CU.YD(S)	115	575

## **REQUEST FOR BID**

---- This Is Not An Order -----



**Monmouth County Purchasing** Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

## FURNISH AND DELIVER CONCRETE FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2022 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
21	4,000 PSI READY-MIX CONCRETE - REGULAR	5 CU.YD(S)	-	
			130	650
22	4,000 PSI READY-MIX CONCRETE - WINTER	5 CU.YD(S)	1	
-	·		130	650
23	5,000 PSI READY-MIX CONCRETE - REGULAR	5 CU.YD(S)		
			140	700
24	5,000 PSI READY-MIX CONCRETE - WINTER	5 CU.YD(S)	1.,	
	1		140	700
25	DELIVERY CHARGE - UPCHARGES FOR WEEKEND	6 TRIP(S)	,	
	DELIVERY ARE NOT PERMITTED		275	1375
-		TOTAL:	181.0	0 PF

\*\*\*\* SEE ATTACHED SPECIFICATION